



$$= \sum_{k=-2}^2 X_k e^{j2\pi k F_0 t} \quad F_0 = 1 \text{ Hz}$$

$$X_k = \begin{cases} \frac{1}{2} & k = \pm 1 \\ \frac{1}{2}j & k = 2 \\ -\frac{1}{2}j & k = -2 \\ 0 & k=0 \text{ or } |k| > 2 \end{cases}$$

$$y(t) = \frac{dx}{dt} \quad \longleftrightarrow \quad y_k = j2\pi k F_0 X_k$$

$$y_k = \begin{cases} \frac{1}{2} \cdot j2\pi = j\pi & k=1 \\ \frac{1}{2} \cdot j2\pi(-1) = -j\pi & k=-1 \\ \frac{1}{2}j \cdot j2\pi 2 = 2\pi & k=2 \\ -\frac{1}{2}j \cdot j2\pi \cdot (-2) = 2\pi & k=-2 \end{cases}$$

$$y(t) = j\pi e^{j\pi t} - j\pi e^{-j\pi t} + 2\pi e^{j4\pi t} + 2\pi e^{-j4\pi t} = \sum_k y_k e^{j2\pi k F_0 t}$$

$$= j\pi (e^{j2\pi t} - e^{-j2\pi t}) + 2\pi (e^{j4\pi t} + e^{-j4\pi t})$$

$$= j\pi (2j \sin(2\pi t)) + 2\pi (2 \cos(4\pi t))$$

$$= -2\pi \sin(2\pi t) + 4\pi \cos(4\pi t)$$